Acc. Geom/Algebra II





Name________________________

Multiplying and Modeling with Polynomials



Period_______Date_____________

Problem A:  Tris and Tobias each have a box that is in the shape of a cube. The edges of Tris’s box are each x cm in length. The edges of Tobias’s box are 3 cm shorter than on Tris’s cube. What polynomial expression represents the volume of Tobias’s box? 
Problem B:   This rectangle shows the floor plan of an office.  The shaded part of the plan is an area that will be getting new tile.  Write an algebraic expression that represents the area of the office that is getting new tile.








Problem C:   What algebraic expression is 

this rectangle modeling?

Problem D:   What is the product of the expression represented by the model below?

Problem E:   The volume in cubic units of the box is  a 3 + 8a 2 + 19a + 12.  Its length is  a + 4 units and its width is  a + 3 units. What is its height?

               a + 3
                             a + 4

Problem F:   Find the area, including units, of the shape below.
        [image: image1.emf]
Multiply the following binomials and simplify completely:
 1)  (x - 5)(x + 4)  

 2)  (x - 6)(x - 3)          
 3)  (x + 4)(x + 7)          
 4)  (x + 3)(x - 7) 
 

 5)  (x + 4)(x - 1)

 6)  (x – 5)(x + 5)

 7)  (x + 2)(x + 2)

 8)  (x + 5)(x – 2)

 9)  (x – 3)(x – 9)

10)  (x – 10)(x + 4)

11)  (x – 8)(x – 9)

12)  (x +7)(x – 7)

13)  (x - 2)(x - 2)

14)  (x - 2)2          

15)  (x - 2)(x + 2) 

16)  (5x - 4) 2




17)  (3x + 2)2 


18) (3x - 5)(2x + 8)  

19)  (11x - 7)(5x + 3) 
20)  (4x - 9)(9x + 4)


When you are complete with #1-20, check your answers

     A quadratic polynomial is written in standard form  ax 2 + bx + c,  where  a ,  b ,  and  c  are 
     called coefficients where  a ≠ 0 .

Looking at your answers to #1-20 above, answer the following:
21)  When will there just be 2 terms ________________________________________________

22)  When will “a” be 1?__________________________________________________________ 

23)  When will “a” NOT be 1?______________________________________________________

24)  When is both “b” and “c” positive? ______________________________________________

25)  When is “b” positive and “c” negative? ___________________________________________

26)  When is “b” negative and “c” positive? ___________________________________________

27)  When is both “b” and “c” negative?_____________________________________________

Tomorrow we will look at going backwards, which is known as FACTORING!!!!
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